
 

Find a closed form: 

𝝍 = ∫
𝒙 + 𝟏

𝒙
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 

Proposed by Shirvan Tahirov-Azerbaijan 

Solution by Pratham Prasad-India 

𝝍 = ∫
𝒙+ 𝟏

𝒙
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝟏

𝟎

𝒅𝒙 = ∫ 𝐥𝐨𝐠⁡(𝟐𝒙 + 𝟏)
𝟏

𝟎

𝒅𝒙+∫
𝐥𝐨𝐠(𝟐𝒙 + 𝟏)

𝒙

𝟏

𝟎

⁡𝒅𝒙 

= [𝒙𝒍𝒐𝒈(𝟐𝒙+ 𝟏)]𝟎
𝟏−∫

𝟐𝐱

𝟐𝐱+ 𝟏

𝟏

𝟎

𝒅𝒙+ ∫
𝐥𝐨𝐠(𝟐𝒙+ 𝟏)

𝒙

𝟏

𝟎

⁡𝒅𝒙 

= 𝐥𝐨𝐠(𝟑) −∫ 𝟏
𝟏

𝟎

𝒅𝒙 +∫
𝟏

𝟐𝐱+ 𝟏

𝟏

𝟎

⁡𝒅𝒙 + ∫
𝐥𝐨𝐠(𝟐𝒙+ 𝟏)

𝒙

𝟏

𝟎

⁡𝒅𝒙 

= 𝐥𝐨𝐠(𝟑) − 𝟏 + [
𝟏

𝟐
𝐥𝐨𝐠(𝟐𝒙+ 𝟏)]

𝟎

𝟏

+∫
𝐥𝐨𝐠(𝟐𝒙+ 𝟏)

𝒙

𝟏

𝟎

⁡𝒅𝒙 

= 𝐥𝐨𝐠(𝟑)− 𝟏 +
𝟏

𝟐
𝐥𝐨𝐠(𝟑) +∫

𝐥𝐨𝐠(𝟐𝒙+ 𝟏)

𝒙

𝟏

𝟎

⁡𝒅𝒙 =
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +∫

𝐥𝐨𝐠(𝒙 + 𝟏)

𝒙

𝟐

𝟎

⁡𝒅𝒙 = 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑)− 𝟏 +∫

𝐥𝐨𝐠(𝒙 + 𝟏)

𝒙

𝟏

𝟎

⁡𝒅𝒙 + ∫
𝐥𝐨𝐠(𝒙 + 𝟏)

𝒙

𝟐

𝟏

⁡𝒅𝒙 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝟏

𝟐
𝜻(𝟐)+ ∫

𝐥𝐨𝐠(
𝟏
𝒙
+ 𝟏)

𝒙

𝟏

𝟏
𝟐

⁡𝒅𝒙 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑) − 𝟏 +

𝟏

𝟐
𝜻(𝟐) +∫

𝐥𝐨𝐠(𝟏+ 𝒙)

𝒙

𝟏

𝟏
𝟐

⁡𝒅𝒙 − ∫
𝐥𝐨𝐠(𝒙)

𝒙

𝟏

𝟏
𝟐

⁡𝒅𝒙 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑)− 𝟏 +

𝟏

𝟐
𝜻(𝟐)+ ∫

𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙

𝟏

𝟎

⁡𝒅𝒙 −∫
𝐥𝐨𝐠(𝟏 + 𝒙)

𝒙

𝟏
𝟐

𝟎

⁡𝒅𝒙 − [
𝟏

𝟐
𝐥𝐨𝐠𝟐(𝒙)]

𝟏
𝟐

𝟏

 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑)− 𝟏 +

𝟏

𝟐
𝜻(𝟐)+

𝟏

𝟐
𝜻(𝟐)+ 𝑳𝒊𝟐 (−

𝟏

𝟐
)+

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 

=
𝟑

𝟐
𝐥𝐨𝐠(𝟑)− 𝟏 + 𝜻(𝟐) + 𝑳𝒊𝟐 (−

𝟏

𝟐
)+

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 

𝝍 =
𝟑

𝟐
𝐥𝐨𝐠(𝟑)− 𝟏 +

𝝅𝟐

𝟔
+ 𝑳𝒊𝟐 (−

𝟏

𝟐
)+

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 

∫
𝒙 +𝟏

𝒙
𝐥𝐨𝐠(𝟐𝒙+ 𝟏)

𝟏

𝟎

𝒅𝒙 =
𝟑

𝟐
𝐥𝐨𝐠(𝟑)− 𝟏 +

𝝅𝟐

𝟔
+ 𝑳𝒊𝟐 (−

𝟏

𝟐
)+

𝟏

𝟐
𝐥𝐨𝐠𝟐(𝟐) 


